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TR E2011FER R D EM & DEEE(1)
MR - Fpp - Bo LAIE

| vEos | 3=z | 2@=s |PE |
Fan Ty (E#{E) 55.2  (18.0) 60.9 (15.5)63.1 (11.8) .000

.- = 764 (44.9%) 1434 40.3% 1836 36.1% .000
T 937 (55.1%) 2124 59.7% 3256 63.9%
L KIEZ LN 146 (8.6%) 265 7.5% 313 6.2% .002
e, ms SUL 299 (17.7%) 574 16.2% 797 15.7%
{2?11&) R L 479 (28.3%) 1006 28.4% 1434 28.2%
e 768 (45.4%) 1697 47.9% 2533 49.9%

Fenld—TLEETE ST, ToRENTIZERE

SRR E2011ERRDOEM & DEE(2)
BMI - £5EE
| yEo» | —®@2 | 2832 |PE

BMI FY(EEEE) 238 (3.9) 23.8 (3.6) 23.7 (3.4) .355

MR 1032 (60.7%) 2368 (66.6%) 3755 (73.7%) .000
T o= 232 (13.6%) 516 (14.5%) 759 (14.9%)
5= 437 (25.7%) 674 (18.9%) 578 (11.4%)

L 1101 (64.7%) 2345 (65.9%) 3506 (68.9%) .002
BB B2 gndy 274 (16.1%) 505 (14.2%) 703 (13.8%)
S50 326 (19.2%) 708 (19.9%) 883 (17.3%)

sz #HH 312 (18.3%) 837 (23.5%) 1234 (24.2%) .000
L 1389 (81.7%) 2721 (76.5%) 3857 (75.8%)

BELEEEH Fu 1083 (63.7%) 2484 (659.8%) 3653 (71.7%) .000
1IEREELE i 618 (36.3%) 1074 (30.2%) 1439 (28.3%)

peo B 1201 (71.1%) 2392 (67.8%) 3172 (62.9%) .000
SRR Bt 488 (28.9%) 1135 (32.2%) 1874 (37.1%)

BERBMIE—TESS&9i. Toftlrh4 ZE8E
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SRR E 2011 EBES 0 EM & 0EE(3)
#HEERI

i

| #E0# | —a#EE | 2ai%e [Pl

&iE 527 (31.0%) 1056 (29.7%) 1533 (30.1%) .000
EBHEICED —anistE 48 (2.8%) 97 (2.7%) 152 (3.0%)
BmE W=, 1070 (62.9%) 2337 (65.7%) 3343 (65.7%)

41| B A gE 56 (3.3%) 66 (1.9%) 63 (1.2%)
BHEICESD TN 721 (44.0%) 1380 (40.1%) 1800 (36.4%) .000
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oE 765 (45.3%) 1715 (48.6%) 2409 (47.6%) .291
TS D 18] 209 (12.4%) 440 (12.5%) 606 (12.0%)
EEoEsE 22 328 (19.4%) 591 (16.7%) 938 (18.5%)

3] 257 (15.2%) 509 (14.4%) 723 (14.3%)

aE 130 (7.7%) 275 (7.8%) 387 (7.56%)
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SERR L2011 EBSOEM & DBEE(4)
BERIRE - HERZE

| PFo#s | %2 | 2822 |PE |
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BERE RS

EREERE (e 195) 626 (37.3%) 1254 (35.8%) 1846 (36.9%)
BEEMREEE
o, 11 (6.8%) 241 (6.9%) 280 (5.6%)

st ogys PERL 914 (55.0%) 2030 (58.4%) 2999 (60.1%) .001
FEES ) 748 (45.0%) 1447 (41.6%) 1988 (39.9%)
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